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R4 88138| 8H148| 8A15H| 8H16H| 8817H
lJ\1 BEINER - - - 0.083
N2 [EFIER - - — — 0.070
INS | - - — - 0.057
NI /INER 0.074
/N5 |REE/NERR 0.095 0.097 0.093 0.094 0.094
N6 [FIGE/INERS 0.079
INT|BGEINERR - - — - 0.097
N8 |FEF/INER - - — - 0.079
/N |RIBG/INERR - - - - 0.074
/MO | B LN - - — — 0.070
MBI NS - - — — 0.074
M2 | BRBDNER - - - — 0.067
M3 | REE/INER - - — — 0.071
M4 [ BNEERR - - - - -
M5 |BEE/INER - - — - 0.065
/M6 [EREFIIE —/NERS - - — — 0.080
M7 [EREFIIEE Z /RS - - — — 0.079
M8 [REH/NERS - - - — 0.088
MY [ZIR/INER - - - - -
/N20 [feE/hER (JEE) - — — - 0.083
IN21 [ RZB/INERS - — 0.081
IN22 | TRV AR 0.081 0.079 0.079 0.078 0.073
IN23 2B T INEERR — — 0.082
24 [JEFT /RS - — — — 0.077
IN25 BT Hh /N2 AR - - - 0.061
/N26 [FOE/NEES 0.093 0.086 — — 0.101
IN2T [BE R /NEERR - - - -
IN28 [HhiEILE — INFHR - = - 0.070 0.080
/N29 |HGEILE Z /IR - - - - 0.072
/N30 [BRAE /MRS - — — 0.077
N3 [HEE /DN — 0.072 - 0.065 0.068
/N32 | BR)I/NERR - — — 0.129
/N33 [ KIR/NFEES - - - — 0.093
N34 [T/ - - - — 0.099
hi1 |[FEhZER — — - - 0.082
F2 |[FEEFHER - - — - 0.072
h3 [P ER - - — — 0.111
b4  |fpHPER - - — — 0.083
5 |FCERER - - - — 0.096
h6 |[FEFHPER - - - — 0.080
h7 [IUTFhZER — — - - 0.069
8 [FEFER - - - — 0.073
F9 [BFHEEPER - - - - -
10 [BRET)I P - — - — 0.069
th11 ST dbh iR -
h12 | RZBEFER 0.065 0.062 0.063 0.064 0.063
13 A E R R 0.075
14 | EfE R - - — — 0.073
h15 [BRAE 1 2d - - - - -
16 |dt k=i - - — — 0.089
17 [HEFER - - — — 0.096
=51 [MiILFER - - - - -
W |ESHHE - - - — 0.064
2 |FRHDHE - — — - 0.072
3 A 4hHEE - - — — 0.072
4 | MRESHE — — - — 0.081




